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(1) Zdfri(v) VITHPOEREICEIY v =10 %
(2) B A58 (m)
mi = I'S%V = 30.0 N/mf
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Yo>T m = 30.0 N/mf
(3)/kEA L FEE(W/C) m = -15.6 + 26.3 X C/W
W/C = 26.3 = (30.0 + 15.6) X 100 = 57 %
W/C = 57 %
(4) Hfr K& W) YTHOEFEICEDY W = 157 ke/m
(5)HpNE A FE(C) C =W =+~ (W/C) X 100 = 157 = 57 X 100 = 275 keg/m
Cv= C + B = 275 = 3.04 = 90 2 /m
(6) %558 (A) A = 4.5 % X 1000 = 45 £ /m
(TYHEMHEEME(G) UBITHOFEFICLY NEFZFME = 0.660 m/m EFER = 60.0 %
Gv = 0.660 X 1000 X 60.0 = 100 = 396 2 /ot
G = Gv X B = 396 X 2.71 = 1073 kg/m
Gl = G X 40.0 % = 429 keg/m
G2 = G X 40.0 % = 429 keg/m
G3 =G X 20.0 % = 215 keg/m
(8) AL HHE# = (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 688 = 312 £ /m
S = Sv X EWEE = 312 X 2.64 = 824 kg/m
SI1 =S X 70.0 % = 577  ke/m
S2 = S X 30.0 % = 247 kg/m
(9)MEM=E(s/a) s/a = Sv = (Gv+Sv) X 100 = 44.1 %
(10) BN FnAlE (Ad) Ad = C X N = 275 X 0.7000 % = 1.93 kg/m
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